Phys 122-01 Test 3 Name: Page 3

3. (40pts.) Greeraser light of vavdength 312 m is incident upon tw narrow
slits of widtha, and separatiod;. The pattern shown betois visible on a screen

a dstance of4 m avay from the slits. (The scale markings in the figure are in
mm.
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a. (10pts.) Whais the width of each individual slit?

b. (10 pts.) What is the spacing between slits?

The slits are then replaced byawarrow dlits of width a, and separation
d,. The pattern shown bedois visible on the screen.
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c. (5pts.) Isa, less than, equal to, or greater thaf? Explain your
reasoning carefully but briefly.

d. (5pts.) Isd, less than, equal to, or greater th&y? Explain your
reasoning carefully but briefly.

e. (10pts.) Ifthe entire apparatus were placed undateywwould the bright
spots get closer togethdarther apart, or stay the sam&xplain your
reasoning carefully but briefly.









